[AE#ER]

B F B aO—F HE R NO 8
=l FER26E881H £ EH 13:30 ~  14:45
15 REESILE YT T ) —F

8 16)

ZaRmiL ® 18 7 ) O =k

L 4 - 18 .
=4 4L EAT, A4k
.’ﬁﬁ% B%%KEP%*X 37 < 7 _ 12 > 55 *Lﬁﬁq]—?%c
SRR 1 L 8 - 18 ) FREUH 1 {1
0T
sy = £ B— Bl IR HAE

[AAr—%IL%K]

X=RB—FT 45 AN—

S=HIBEF ER=HBLL

fg #B HRMR 14 FEE REHHLIR 1 i1

E F K 4A|Pin|FR|3P|2P(FT|RE| & F K 4A|Pin|fSR|3P|2P|F T|&E
4l EHE OBE | x| 2 1 1 s EH KE| x| 4 2 3
sl EABA| x | 7 31 113]|s|FKX B#t| x |34 12110 2
6| Bl K% | x| 9 A1 1|5 |slEFKk BF|x[10[1]3]1]3
| BRI 8B [ x| D 2 11| 3] |7 seF #ER | x| O 2
g|dehi MEKER| | 6 2|2 sl & Et || 2 1 1
o| SLE Et#h | x| 8 4 2| |o| Kar BEFE || 3| 1 1
0] R HR 0 o &£¥F B0
11| fngE  BEth 0 1 BE BEE| X| 2 1 1
12 0@ X 0 12| KAT  RICHR 0
13l Kf1 HFE 0 13 EF EH 0
14 £H &H#® 0 14 = 0
15| Bl K— 0 15| BE 1&7F] 0
16| =@ =i 0 16| E  ERR 0
17 HA BE 0 17|/NE FEKER 0
18] K+t RBRE 0 18] —# R{G 0
ClRABN fE— c| & EA

& &t 371016 5|14 & & 551 2 |19(11]13

2014/8/1



